











20.

21.

2R

23.

Complete the following analogy.

8:24::7:32
(A) 6 (B) 10
(C) 5 (D) 8

(E) Not attempted

In the following question, a stgtement
followed by 2 conclusions Is given.

Choose right conclusion which logically
follows the given statement.

Statement : Morning walks are good for
health,

Conclusions : |. All healthy people go
for morning walk.

Il. Evening walks are
harmful.
(A) Neither | nor Il follows
(B) Both I and Il follow
(C) Only conclusion | follows
(D) Only conclusion Il follows
(E) Not attempted

A person travels 120 km in 4 hours. If he
increases his speed by 10 km/hr, how long

will it take him to travel same distance ?

(A) 3.5 hours (B) 3 hours

(C) 2 hours (D) 2.5 hours
(E) Not attempted

Which of the following is an example of
an Input Device ?

(A) Keyboard (B) Mon%i'or

(C) Printer (D) Sp&her

(E) Not attempted
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The Headquarter of Haryana State
Industrial and Infrastructure Development
Corporation (HSIIDC) is located in

(A) Chandigarh (B) Faridabad

(C) Gurugram (D) Panchkula

(E) Not attempted

Which type of language was used in
Second Generation Computers ?

(A) Object oriented programming

(B) High level programming languages
(C) Machine language

(D) Assembly language

(E) Not attempted

The Article 23 and 24 of Indian
Constitution are related to

(A) Right to Freedom of Religion
(B) Right to Freedom

(C) Right to Equality

(D) Right against Exploitation
(E) Not attempted

Select the correct alternative that indicates
the arrangement of following units in a
logical and meaningful order.
1. Scrutiny
Application
Interview
Job offer
Joining
{A) 2.1.3,4.5
(B) - 3.1,5,4 2
(C)4,3.2.4. 5
D24 1.5 8
(E) Not attempted
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A can complete a job in 12 days and B can

complete the same job in 18 days. If they

work together, how many days will they

take to complete the job ?

(A) 7.2 days (B) 7.5 days

(C) 6 days (D) 8 days

(E) Not attempted

Which Amendment of the Indian
Constitution introduced Fundamental

Duties ?

(A) 87" Amendment
(B) 44™ Amendment
(C) 42" Amendment
(D) None of the above
(E) Not attempted

What is the value of 10— (2x 3) +8+2?
(A) 7 (B) 5

(C) 8 (D) 6

(E) Not attempted

Central Institute for Research on
is situated at Hisar district of

Haryana.
(A) Crocodile (B) Deer
(C) Tiger (D) Buffaloes

(E) Not attempted

Which of the following is not correctly
matched ?

(A) 1EB=1024 PB
(B) 1YB=1024 GB
(C) 1 GB =1024 MB
(D) 1 TB=1024 GB
(E) Not attempted
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What is the role of the Haryana
Renewable Energy Development Agency

(HAREDA) ?

(A) Promoting solar panel imports

(B) Providing electricity to rural areas

(C) Managing coal-based power plants

(D) Enforcing the Energy Conservation
Act, 2001

(E) Not attempted

Consider the following statements related
to Deccan Plateau :

Statement 1 : This is bordered by the
Western Ghats in the east and Eastern
Ghats in the west.

Statement 2 : Western Ghats are
comparatively higher in elevation and
more continuous than the Eastern Ghats.
Which of the statements given above
is/are correct ?

(A) Both statements 1 and 2 are incorrect
(B) Only statement 2 is correct

(C) Only statement 1 is correct

(D) Both statements 1 and 2 are correct
(E) Not attempted

Which city in Haryana had the first metro
rail ?

(A) Kaithal

(B) Gurugram

(C) Mahendragarh
(D) Hisar

(E) Not attempted
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Pointing to a photograph Lata says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related
to Lata ?

(A) Data is inadequate

(B) Cousin

(C) Brother

(D) Uncle

(E) Not attempted

Harsha transferred his capital from
Thanesar to

(A) Mathura

(C) Pataliputra
(E) Not attempted

(B) Delhi
(D) Kannauj

Who was the founder of the Satavahana
dynasty ?

(A) Hala

(B) Vashishtaputra Pulamayi

(C) Simuka

(D) Gautamiputra Satakarni

(E) Not attempted

A sculpture found at Sugh in Ambala

district of Haryana depicts which of the

following 7

(A) Women performing folk dance

(B) Kings in a battle

(C) Farmers ploughing fields

(D) Singers and musicians travelling on a
bullock cart

(E) Not attempted

What is the value of sin 90° x cos 0° ?

WA
) V2/

(A) 1
(C) 0

(E) Not attempted
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Most of the Indian Subcontinent will be
grouped according to Koeppen s system

under
(A) Am (B) Df
(C) Af (D) BSh

(E) Not attempted

Where is the Indo-Israel Horticulture
Project located in Haryana ?

(A) Sirsa (B) Panipat
(C) Gharaunda (D) Uncha Majra

(E) Not attempted

Who was the first ruler to establish Hisar
as a major city in Haryana ?

(A) Akbar

(B) Sher Shah Suri

(C) Babur

(D) Firoz Shah Tughlag
(E)

E) Not attempted

Which of the following is true for
x=3-27 2

(A) Undefined

IC) x=23

(E) Not attempted

(B) x=0
(D) x=-3

Two friends A and B invest in a business
in the ratio 3 : 5. At the end of the year,
they earned a profit of Rs. 40,000. What is
A’s share of the profit ?

(A) Rs. 40,000
(C) Rs. 30,000
(E) Not attempted

(B) Rs. 15,000
(D) Rs. 50,000

67.

68.

69.

70.

71.

-18-

CE7G - 25

et 1 el % ST ST ST
35 et s 1w A AT
() Am i

(©) Af (D) BSh

(E) AsfEd

g # F21-gorEe srEr

(A) ferar -5

(C) wfer (D)=l AT

(E) 3ronfaa

e # feem %1 0 @ e = A
T T STeTl TEe SITEeh hiH AT 7
(A) e

(B) IR=E g

(C) ST

D) TRUS =8 qreteh

(E) A9

x = Y27 % fou frfafaa & @ s=-=
g ?

(A) FrdfeTRe (B) x=0

(C) x=3 AD) . x=-3

(E) ST9amferd
aﬁaAaﬂw@waamﬁs:s%
I | fraw o ¥ | o % o9 A s=in
®. 40,000 T ATH HHET | A9 T

A1 feran fewn & ¢

(A) €.40,000  (B) %. 15,000
(C) . 30,000 (D) ®. 50,000

(E) 31y



i

72.

73.

Slash and burn agriculture, commonly
called as Jhum cultivation practiced in the

(A) North-western States of India
(B) North-eastern States of India
(C) Coastal Kerala

(D) None of the above

(E) Not attempted

In the following question, select the word
from the given alternatives which can’t be
formed using the letters of the given word.
CONSTRUCTION

(A) CAUTION

(B) NOTION

)
(C) SUCTION
(D) COINS
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bca b _aabc a_caa

(A) bcbb (B) chab

(C) acab (D) ccab

(E) Not attempted

The famous Ajanta Caves, which consist
of twenty-nine caves, are located in which
Indian State ?

(A) Rajasthan

(B) Gujarat

(C) Maharashtra

(D) Madhya Pradesh

(E) Not attempted
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Choose the correct active/passive form of

the given sentence.
She handles all tasks efficiently.
(A) All tasks are being handled efficiently

by her.
(B) All tasks have been handled

efficiently by her.
(C) All tasks are handled efficiently by

her.
(D) All tasks were handled efficiently by

her.
(E) Not attempted

Choose the correctly spelt word.
(A) Parsonnel AB) Personel
(C) Personnel (D) Perssonal
(E) Not attempted

Give one word substitute for the following.
The study of plants is called

AA) Botany (B) Sericulture

(C) Bacteriology (D) Astrology

(E) Not attempted

Choose the correct option to form a
meaningful sentence.

to the / bring / car park / the money
(A) The money bring to the car park.
4B) Bring the money to the car park.
(C) Bring to the car park the money.
(D) Car park to the bring the money.
(E) Not attempted

Choose the correct antonym of the
following word.
Ascend

(A) arrive

(C) increase

(E) Not attempted

(B) expand
D) descend
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' ses
i hich best expres

he alternatlvew icf i
tcr;mgonﬂsez:ling of the given idiom/phras
Like a sitting duck

(A) Ignorant B) Sleepy

(D) Fat

1C) Lazy

(E) Not attempted
Choose the correct indirect form of the
given sentence.
His friend said to him, i
against this beforehand 7
(A) His friend said to him if | had not
warned you against that beforehand.
(B) His friend asked him if he did not
warned him against that beforenhand.
() His friend asked him did he not
warned him against that beforehand.
(D) His friend asked him if he had not
warned him against that beforehand.

(E) Not attempted

“Did | not warn you

Choose the correct meaning of the
following idiom or expression.

Piece of cake.

4A) Feeling slightly ill

(B) Would never like to do something

(C) Ajob, task or other activity that is
easy or simple

(D) Join a popular trend or activity

(E) Not attempted

Choose the correct synonym of the
following word.

Pause
4A) Stop B) Staff
(C) Start EDg S;e

(E) Not attempted

Choose the correct answer
necessary corrections.

| am angry on you.

(A) lam angry to you.

((g; : 2m angry with you. .
o m angry for you,

(E)

after making

am angry in ou
Not aﬂemptedy '









